3.7.1 Connecting Formulae (Fall 2018)-f18 October 19, 2018

Before we begin, are there any questions from last day's work?

2 (we'll do) 2 (already done) 3 (we'll do) 3 (already done) 4 (we'll do) 4 (already done)

Today's Learning Goal(s):

By the end of the class, | will be able to:

a) rearrange a formula for a specified variable.
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3.7.1 Connecting Formulae pate: __Oct.19, 2018

Ex.1 The formula d = v+ ?ar‘ relates the distance, &, travelled by an object toits initial velocity, v,

Fa

acceleration, a4, and the elapsed time, ¢.
Determine the acceleration of a dragster that travels 500 m from rest in 15 s, by first isolating a,
and then by first substituting known values. Compare and evaluate the two methods.

Solutions
Method 1: Isolatex first. Method 2: Substitute first.
1
d:vol‘+lal‘2 d:VOt+Eat2
1 d=500m, t=15s, vy=0m/s
d—vit=—at’ |
500=(0)(15) +=a(15)’
2(d—vyt)=at® 2
1
2(d;vot) . 500=—a(225) — 2(50) 27
LL.d= t—2 500 —a /55 &9\\5
d=500m, t=15s, vy=0m/s 12.5 4
. 2
2((500)_(0)(15)) a=444m/s
a _
(15)
1000 3.7.2 1-14,1-18
275 3.7.3 2¢,d.f, 3a,b,c
=444 m/ s*

(Continue to work ahead on Review 3.9.1)
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Return [ lo
30 o
2. A farmer needs to tgl using 50 m of fencing W | Encloswe a0 &
One fth sides fth 1 osure is a tth barn. i
If the of the is 300ma2, d t ermine the dimen of the osure. [s

W?*«/Wm réﬂjﬁ\’f W‘M/hyxeﬂ(,
b=l  Wtw=350

200- oy W= 5034
300:/(5_0_3[3 Hom w= So-2[10)

300 = Sol- 303 o
/%300 +300= 0 o L= 15m
Q/K{QSKHYO): O — 50- 3
- 10)H-S)=0 =0
‘h=10 ot K=(T

the dimensions of the enclosure are 10 m by 30 m, OR 15 m by 20 m.
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3. The function, h = t4 - 2t3 - t + 2, models the path of a gull try ng to catch fish,
where h represents the gull s height abov th e water in metres and t represents the time in seconds.
a) At what height is the seagull when it first sees the fis h‘7
b) When does the seagu ll hit the water?
¢) At what time does the seagull leave the water with the fish in its beak?

Vb=t Dattery

ik t=o, )= 5 ¢
Hoe Geq ]u(j G A hn aJDl\R v Lua,[w, \\ /
b) when h=0 o0 Lt }(f)<0 \u
0=¢ L(“Qfs‘f‘bx N

= =2
{ B \ﬁ Return

['4/{4 Mn;‘ff@, ot 134 ém( (0\»‘0#\!%("\
Q%C)
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4. Melissa is running a ski trip during the exam break. Return
The bus holds 40 students and if she charges $250 per student the bus will be filled.
For every $25 increase in the price she charges students, two fewer students will go on the trip.
a) Write an equation to model the Melissa’s revenue.
b) Determine the maximum revenue.
¢) How many students need to go on the trip for Melissa to earn $8800?

a) Revenue= Price x Number {-,L;(kufs

=p(0.08p460 ) ‘\’ p-270

- —0—08p°)+-6&/o pp)

) ~o.o$Zpo+ 6O

the max. revenue would occur when ticket price is set at $375
(the max. revenue would be $11250, from 30 tickets being sold. 11250+375=30)

Vi=-0nBRz+E00

Yo11zEn

C> 8500:‘ 0-0‘803D + 60/0

0.0¢p* ~6op +8&00 =0
0.08//){ Pop t 11000)T 0

0.08(1p- ‘o)(’O):O
D&’BS’S ‘OJD

v
f “YWo o /3 = a00
to earn a revenue of $8800, ticket price must be set at $550

(resulting in only 16 tickets being sold  8800+550=16) |vz=gana

or the ticket price must be set at $200
(resulting in 44 tickets needing to be sold  8800+200=44)
[What is the problem with this idea?]

Melissa is best off setting the price at $375

R=5E0 Y=aE0n
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